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CLASS 10" MATHEMATICS Exercise 1.1 (MCQs)

D C B A =y A
jdﬁﬁmlabﬁ(ﬂﬂ»b{l ax” +bx+c=0
b#0,c#0 a#0 c#0 b#0 ax” +bx+ c =0 will be quadratic (1)

equation if:

jJﬁ;&l)Lﬁ&)}»@le&b{l ax” +bx+c=0

b#0,c#0 a=0 c#0 b=0 ax” + bx + ¢ = Owill be pure quadratic (i)
equation:
A | [=A | [=A] | [5F Crir FEAE T ot
15 | 1| 175 [ | The solution set of 4x* =7 will be: (111)

(x—D(x=2) | Gx+D(x=2) | (x+D(x+2) | (x=D(x+2) UGFLIP LN =X =D

Two factors of x° — x — 2 are:

{—liﬁ} {li\/Z} {li\/-g} {—li\/g} ?+¢5J”Kx2+2x—2:0m,u i)

The solution set of x> +2x—2 =0 is:

@Hl"p&f}u{' ax” +bx+c=0<=bl
0 I
0 =) ;”Q\/ b (vi)

a=0 a0 b=
(.&\@ ax” +bx+c =0 become a linear
A\“{ equation 1f:
AN < b B )
(0,5) (0,30} (0.6} |1 @—6} Sl Sx=30x bl |
R Roots of the equation 5x” =30x 1is:
(/f( > , 2 _
(5) (10} (=31 DT - {+5) e JY 5 —125 =0l |
Q\ The solution set of 5x™ —125=0 is:
A
th
CLASS 10 M@THEMATICS Exercise 1.2 (MCQs)
D C B A = Uiy JL"’/«'I
) —b++/b” -4
S8 05 S Goarss \/2 =
a
CI:O aio b:() C:0 _b+\/b2_4ac (i)
= 2 is called quadratic formula
a
where 1f:
<L | oy fss | #b=0¢ . APPSR 4 (5 IO NIVt 9T
" cais be R T 9 ¥ The quadratic formula is useful tool for solving (ii)
factorized | factorized have b=0 all of these | those equations which:
Lff“;l;} s’ (50995 C"/’J:;“,g;’)é ,'EJ;/’{L/[‘)L’”U}”JU&J)»
'B" ‘ By By i The name of the method to derived a quadratic (i)
fac toriga Hon quadratic | completing | all of these | formula is
formula square

CLASS 10'* MATHEMATICS Exercise 1.3 (MCQs)
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D C B A =y A
(s Gl P S ERC N ax" —bx’ +cx’ —bx+a=0 0
Quadratic Linear Reciprocal | Radical | ax* —bx’+cx’ —bx+a =0 is a equation:
Jum;’. ¢IJVJ)§’ sl $sde e fals(Sna "?’dM:"’L/Jy a™* + b,a’+c=0
Exponential | Reciprocal | Radical Quadratic | Equation in the form of a** +b,a" +c¢=0 is (i)
equation equation equation equation | called:
e 2 _16=0
{2} {iz} {4} {i4} .94&(4)( 16=0 /sl i)
The solution set of equation 4x° —16=0 is:
e Malr (W e s :.J,al.»«‘u’yg" e als (S ke uﬁ{d[ :%rfd/gx 132X 1 6= () sl .
Exponential | Reciprocal Radical None of A Gon of the tvpe 3* 4.3 4+ 6 = 0s a/an: (iv)
Equation Equation Equation these 1 cqUaton 01 e type — VIS Al
th o
CLASS 10" MATHEMATICS Exercise 1.4 (MCQs)
A
D C B A = Uiy
&
QIJLAJJ@:G;L ,JZUIJ/;;’&JU)':J;L«‘VQ
e, | SRR e | e A
Square sign Aponentia Radical sign | None of these An equation mvolving impression of the
s1gn ﬁ under is called radical
/&;g toin:
C} _ujd’.«:fé \/3)(? +18 il Sk
x=6 t=-3 The radical equation \/ 3x+18 has (i)
q
solution set:
u}JJu:).:i \/336 +18 =x sl Ssde
x=3,x=6 =—3,x=06 Two roots of radical (iii)
equations J3x+18 = x are:

e.\d U.A)S u"‘LU

D C B A = Ul J'f'ﬁ/
2 2
ax"+bx+c=0,a#0 | B bx+c=0,b#0 A :«:.‘_.ydjk-w‘(fcabu&ﬂﬂ (i)
ax” =0,a#0 D ax” =bx,a #0 C | Standard form of quadratic equation is: (11)
:;*T*._JIJJJUJ?JJ ax’+bx+c=0 ...:*..»i}l/‘dj‘l:-v(ﬁﬁ})
4 3 2 1 The number of terms 1n a standard quadratic (1id)
equation ax” +bx +c =0is:
Iujgf__/l"éii./j/&ljl# (50393
4 3 2 l The number of methods to solve a quadratic (1v)
equation 1s:
2 . —_h+ 2 .
b’ —dac | g cbEbi-dac |
2a 2a :‘L.UY‘JG(;J}}) (V)
2 2 ' 1S (Vi)
b+/b? + 4ac _b++/b? +4ac The quadratic formula is:
x = — 2 D X = — 2 C
a a
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(X+7)& (X_7)& (X+7)& (X—7)& -uj)}g&ﬂu{n.ﬂ x> —15x +56 (vii)
(X+8) (X—S) (X—S) (X+8) Two linear factors of x> —15x +56 are:
v L =
& 7 . - Mﬂ; - é_/ —.G AP [T
u:f/d[ <l (S 4 ..:J)qu’)g" e falr WS e d {E;d Jlé/; o X d/x UbLﬁ i
None of Radical | Reciprocal | Exponential | An equation, which remains unchanged |  (viii)
these Equation | Equation | Equation | \hep x is replaced by 2 is called a/an:
X
uf’(j/ h.:*..»lﬁl./u’:g” M3l S do &ljbgua; -é—f:’d/? +37+6=0 = sl
None of | Reciprocal | Radical | Exponential | An equation of the type 3*+3"*+6=01is (ix)
these Equation Equation Equation | a/an:
b 2 _ — oo
{2} {i2} {4} {i4} | ..“:....«{J"PMX 16=0 = /s~ (X)
The solution set of equation 4x* —16=0is:
s el sl Sde SN _%GMZX"* —3x° +7x°-3x+2=0 = lsl»
None of | Exponential | Radical | Reciprocal | An equation of the form (x1)
these Equation | Equation | Equation | 2x*-3x’+7x°-3x+2=01is called a/an:
YAQAQAQA @ ¢
th
CLASS 10" MATHEMATICS -.35 ercise 2.2 (MCQs)
- - i A PR <;§“’) =y &/
4 3 2 P B A L0 )
o S " There are complex roots of unity:
2 2 _ : \ ;7 > =17 -
@ —@ q, A @ S 9 (ii)

CLASS 10*™ MA EMATICS Exercise 2.3 (MCQs)

D C <:§~5 B A e Ul s A
a __b a C :%L"ﬁ,ﬁrfgﬁué.&bb»&;;n .
5 a - ¥ o Sum of roots of a quadratic equation is: (1)
4 3 —3 3 :‘:;.,uf{ujuz_/. 4x2 —3x+6=0 (,,)
= = - — ii
3 ] 4 4 Sum of roots of 4x° —3x+6=0

CLASS 10" MATHEMATICS

D

C

B

A

= Uy

Exercise 1.1 (MCQs)

VY

aZ_ﬂZ

o’ + 3’

[ 1
a p

a p
L «

1s a symmetric function.

eSS

(1)

fla+p)=f(f+a)

fla+p)=—f(f+a)

fla+B)+f(f+a)=1

fla+B)-f(f+a)=

unSELIS AP Ui fo S
Symmetric functions are those functions in
which the roots involved are such that

(i)

CLASS 10" MATHEMATICS

Exercise 2.5 (MCQs)
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D C B A = Uiy th"/:}
X' —(a+p)-ap=0 X +(a+p)-af=0 Sl S L1 s Boass
2 2 s wesail (1)
X —(a+p)+af =0 x +(a+p)+apf =0 Standard form of quadratic
equation in their roots a,p is:
. :galﬁbﬁx):)éé:ﬁhjlfiuju
x"=Tx+12=0 | x*+12x-12=0 | X’ +7x+12=0 | x*+x+12=0 | Quadratic equation for the (iii)
roots 3 and 4 1s:

Exercise 2.5

A 8375 517 B0.SLIEES L

:Z,u:fCLLfﬂl;ﬁf?.
10 ecm, 30 cm 23 cm, 17 cm 25 cm, 15 cm | 20 em, 20 cm | The perimeter of a rectangle (iv)
1S 80 cm and 1ts area 1s 375

cm?, possible dimensions
are:

@H\\/p Zz0of3 SUsn U ZTxP—x+4=0 sl B Ji

4 7 4 < /—1
S I R avsmo,in| ®
4@} If o, Bare the roots of 7x* —x+4=0, then
. \f&j@ af 1s:
Nﬁiif Q""L‘ fﬁ Ji’t/j ..uzujuﬁ 4x% —5x+2 =0 sl (iif)
these Rational | Imaginary | Irrational | Roots of the equation 4x°—5x+2 =0 are:
1, —m,—® —1,—-0,® 1o— | —1,—0,-0 'u’?*}ﬁm‘? Lt (iv)
Cube roots of '-1'are:
3 i 1 0 -é.,;)fg.faﬂl;,%ééﬁ v)
Sum of the cube roots of unity 1s:
; L | ) e AL L i)
B Product of cube roots of unity is:
T uju Cax’+bx+c=0 whls Jxb?—dac<0 J
Noneof | O£ o Fu AEEH | (vid)

Imaginary | Rational | Irrational | 1f p>_4ac<0, then the roots of

ax’ +bx +c=0are:

these
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u”’j/ olals J w2 ('f/ J"( dgbz—4ac>0 J
) SdP Pt S 2 -ujujafﬁax2+bx+c=0

None of : . . (Vviil)
these Irrational Rational | Imaginary | [f p>—4ac>0, but not a pertect square then
roots of ax” +bx +c =0are:
kci P L]
o+ o—p 1 1 1 D%pa city-org T a B (ix)
— ix
o
i o o« B & : { L 1s equal to:
o P
2 2
o+ (a+B) —2ap 12 : 12 o’ —PB’ | AR (x)
a” P o’ +B%is equal to:
, ®° l,—m l,® 1,—1 UG A e L6 (xi)
Two square roots of unity are:
P & 4 ‘ﬁ';“"l"c f“‘l'” UL Ax% = Ax +1=0 sl (xi)
_ : cal, cdl, : 2 _ :
Irrational | Imaginary Unequal Equal Roots of the equation 4x” —4x +1=0are:
J s (Roots) ujuf, px’+qx+r1r=0ll+B o Ji
2p P P P If o, [%/ar roots of px’+qx+r=0, then

su;n@ e roots 2o and 2B 1s:

Roots) JJM X°=x-1=0 =blsBca Ji

//\ O

QQ If o, Bare the roots of x*—x-1=0 then
O\/ product of the roots 2a and 2p 1s:

t’lng'/ /(Lﬁ'ld/ujuﬁaxz+bx+c:0_:pbl/

,C.U/" . f::a o 7 ,.&)f- ﬁj" 3
Dizcrir;)jiant Synthetic * Sum of T (&)
Division | Productof | o roots | 1he nature of the roots of equation
the roots ax’ +bx +c¢ =01is determined by:

_%L‘:'mﬁ(}/' Kax” +bx +¢c =0 lsln

The discriminant of ax”+bx +c=01s:

—b* —4ac —b” + 4ac b’ + 4ac b* —4ac (xvi)

IR
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Exercise 3.1 (MCQs)

D C B A <= Uiy Jt"/:/
Qe e (e
A 4 S¥ S i The unit of ratio 1s: (i)
meter kg Kelvin None of
these
e «.zib/ 3 o) - u;:z‘f S8 U5 (i)
Extremes Means Statement | Proportion | Equivalence of two ratios 1s called:
600m : lkm ="
: ' 35 -
5:3 6:1 600:1 600m - T = 2 (iii)

CLASS 10" MATHEMATICS

Exercise 3.2 (MCQs)

D C B A < Uy JL"/
tﬁf"&"’f&, < JL«UL’J{J"W:UL’J
5 wls 1 Speed and distance has a relation
il JF ‘f’g/ T pgrportlon 1 1 (i)
Direct Inverse Either No relation
direct or
Inverse
; )S/ } o J[c:..ufcjf 'ﬂ?b u‘JbquJ:ig/_./b
=t It = b 0 Clrcum;f@;%nce and radius of circle are: s
Directly Inverse Both ) . 5&\@ (11)
proportional | proportional | proportional | None of . é:i)
these /f}\
f:.:..wl;f, /\ /Z \/ :;.JJ"" uﬂl;’.&kd?/d/:u:lé’_ﬁulﬁfugl/fl
If one quantity decreases and other decreases
s | us | oE | g |l quniy o
e variation is:
Direct Inverse Either A 7V(jielatlon ()
direct T\ 1 &
m\(éfseﬁ
" MA
CLASS 10 THEMATICS Exercise 3.3 (MCQs)
D C B A <= Ul Jt"’ﬁ/
30 +32 1923 130 | =fwbﬁ'dbf:é L2045 n
For 20, 45 mean proportional 1s:
-+ e K412 .
’ A 23 3 Third proportional of 4,12 is: ()
A s _,.:;._‘r.,r‘t;l/féf. a:b::b:ch
a b c i For a relz"ition a:b::b:c, the third proportional i)
None of | 1%
these
g U 35 w3l — s 2 d -q_.t'u{"ié a:b:c:d,d
1st 2nd 3rd 4th For arelation a:b::c:d, d is called_. (iv)
proportion | proportion | proportion | proportion

CLASS 10" MATHEMATICS
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D C B A Uiy A

(x+3)°—(x-5) 4
el L L = — s
&f $ (x+3)"+(x=5)° 5 e

x = +9 x=+3 ¥=—3,-9 x=3,9 | What will be the value of x for the equation (i)
(x+3)°=(x=5)°" 4

—

(x+3)2+(x=5)* 5

a—b:b=c—d:d a.:a—b=c:c—d :,f_.;fﬁ_,,ﬁ,t»?ﬁ a:b=c:d ./ y
a+b:b=c+d:d a+b:a—b=c+d:c—d |If a:b=c:d then by theorem of componendo: ()
CLASS 10" MATHEMATICS Exercise 3.5 ((MCQs)

D C B A - Uy JL"'/:/

et Y kAy=kI F s

5 — z

2 y X 4 o x (i)

variable | In joint variation, y = k — ,k is called constant of

z

,,@45 y=X 5 s

k=1 k=0 k1 k#0 ¢ (ii)
For joint Var,l@:} y=— Where
o \/ =
N
3)4-44‘_9#“43)-9-\-454“(}4 Cg\ PJJUA)S‘:AAL\J
Nufd[f Fjd/)) ﬁ UL/A< Qg UL’J :é.t*ng’/auia:bcﬁJ Q)
t(l)llzeo Consequent Antecﬁzcign Relation | Inaratio a:b , a1s called:
o s N NN
t%izeo Consequent Antecedent Relation |Inaratio x:y,y1is called:
u{d[ — V5 u’f) g/:hﬁ :wLMdj;laJa:b::c:d —
None of Fourth ; (1)
. Extremes Means | In a proportion a:b::c:d, a and d are called:
these Proportional
oS =% uﬁ’)’ 2% :ujLMcmbu:a:b::c:dqbf ;
None of Fourth . (1v)
. Extremes Means | In a proportion a:b::c:d, b and c are called:
these Proportional
buksdlcsla Lac=b’ca:b=b:c urw‘b?fu
abel b G, A e v)
none of —— fourth third In continued proportion a:b=b:c, ac=b’,b
these is said to be proportional between
a and c.
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J’J[ — C «<bslaa:b=b:c g.,wl:fd’v
“ b & Z st (vi)
none of fourth H _ _ L
Hiase eains ourt thir In continued proportion a:b=b:c, c is said
to be proportional to a and b.
12 3 4 7S -ér}”x Smdix5:15 (vii)
4 3 4 Find x in proportion4:x::5:15.
y 8
uv’ =1 uv’ =k u=kv’ u=v’ Fue vt/ (viil)
If uov®, then:
2 3 2 2 2 1 2 _ K Y ? /([ .
y“:kX y =X Yy :F y _F 1 (lX)
If y* «—, then:
X
o= —k Ji
u=vk u=wk u=vk’ u=wk” 4 v vV (x)
It —=—=k, then:
V W
¥V y oy ¥y e oAy I X (xi
X" X X" The third preportional of x*and y*is:
&/\._/‘J )
X Xyv vy Xy (’ Q e WerbB U Xy VW (i)
vy N \4 . (\1;%3\{611@ proportional w of x:y::v:wis:
a—b:x—y a+b:x+y EZE E:E@Iy<f :é.:,‘fjdl,g?ﬂa:b:x:y/l (Xiii)
A y b Y by jff\:% If a:b=x:y, then alternando property i1s:
1u,;0\\v,a : - -
E:X a—i—b:x—!-y a _ X <£ I/__:E :é.b“»f"’u/gﬁ’ﬁ'a:b:x:y/(’ (XiV)
- b y T %i\@ PV Xy If a:b=x:y, then invertendo property is:
‘* /
\p M"'J / }’—:—/'/
a—-b c—d ﬂ QE\“‘“\ a\y_j C a _ ¢ = b d
b d be \ja—b_c—d a+b c+d o ' (XV)
It = then componendo property is:
PAQARA X9k ¢

CLASS 10" MATHEMATICS Exercise 4.1 (MCQs)

D C B A = Iy Jk"ﬁf
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e /3 ui:.: J[a‘:.-u:c)' -J;:CL‘//J(MJJ 2)
sl 4é </ "_' A&B <4 The quotient between two 1s called :
Digits Algebr_alc Both A & No n; ok fraction. : - (1)
expressions
p B s Dé pakcnty.org%o
2
: X +3
; : ¥3) = J
S| Lwd | AE S o e |
Proper Improper | Compound | & % " " (i1)
fraction fraction fraction < B X +3 T, . Fraction:
(x+1D(x+2)
u:.-fl}L-f‘ d/.'/.b &J‘%V / "%’ "gl 2(x + 1) = 2x + 2 (iii)
Equation Unequality Identity Fraction 2(x+1)=2x+21s a/an
1x=9 x> +x+1 | xX*+1 | 22 +x2+1 ‘St et Les |
(x+1)(x—=3) 210 2(x—1) 2_1 | Which one of them is not an improper fraction? (iv)
th
CLASS 10" MATHEMATICS Exercise 4.3 (MCQs)
D C B A = Ul Jk"’/:l
A B.X I C Dix A n B | Cx+D :u;;/d;'[:yﬂ;)ﬂié
x—1 xX*41  (x2+1)? x—1 x2+41 (P +1) 2
() CHDE D |y
A B C A  Bx+C Dﬂ{‘dﬁ\z’: True partial fractions for
: 2
=1 2+l 41y -1 ¥ (i\(s@f )’ e
<\ (x+1D)(x"+1)
T ALl L X +1
(x=Dx*=x+1D | x+D&*=x-1D | (x+ 1)((9?» §ﬁ>+ D) | (x+1)(x" +x+1) | Multiplication factors for (iii)
O x° +1 are:
S\ AOND >
<§\) B e S L % +]
. N@ X r' i x3 +1
ey 3 S\/ —21 Ls¥ . (iv)
Linear Improper Proper Compound x3 I o adn
x" +1
fraction.

e.id UA)S u‘“‘LU

D C B A < Uly Jk’/
| Sx«(5x+4) =25x" +40x +16 =1
ﬂéifﬂ Uit 1% UL el L -9..;;«/;:45 )
none o
hese all values | two values | one value | The identity (5x+ 4)2 _ 9% L 10% 1163
true for of X.
3:’/:_.@:0! . &
.. =3l =/ £ e bl K(”f(x):N(X) S
ST / | An An | D(x) (1)
N%ne of | Aklraction | g .on | Identity U 2D (x) 4 N(x) ZD(x)#0
these

Please visit for more data at: www.pakcity.org



10th Math Full book solved MCQs www.pakcity.org

: N :
A function of the form f(x)= (%) ., with
D(x)
D(x)#0, where N(x)and D(x)are
polynomials 1n x 1s called:
1 Y L. Z: y . g /‘5’( FE v ¢
L}!(&-U::U’ /u%ljfj Wl & ou Cf on Ko “ - //
* ‘ Al 3
A =" Ab | A Proper e 4 el T i (i)
None of | An Equation | Improper P A fractlon‘ in which the degree of the
these Eraction Fraction | nymerator is greater or equal to the degree
of denominator 1s called:
oy wf e s e f s 2 S
s 7 .
| & . >
/*-,-*?3 Y, An sl -§-L}M i)
A Proper |, Identity | Improper An A fraction in which the degree of
Fraction Fractions | £duation | pnumerator is less than the degree of the
denominator 1s called:
O e e i » PNy - B 2x +1
0 = . At (x+1)(x—1)
" A Proper An 41 (V)
None of - - Improper A is:
Fraction Equation . YIS 15.
s Fraction | (x+1) /(Q\%I\\
e o OV
u‘i} afl/ < fala alﬁb&ﬂb&ié\o > b{, (X A 3)2 _ %241 6549 |
“ An Identit il ALine% B "+3 2 %21 6x+9is" (V1)
None of Y | Equation Eﬁm@l x+3) =x’+6x+9is:
these /,,ﬁ\\ p
/ ; )U . J X3 +1
;P =P\ -4 L
X E;JV‘ L eNE A/P:Ju (x—1)(x-2) i
onstant |- A Identity roper HOPE x 4N
Term 5 : Fraction 1S:
(\\xﬁ action (x—1)(x—=2)
<
..g_[}’&ﬁJ{J J/d}ZJ(X—)I()_(j+2)
Ax+B C A Bx+C Ax B A B
+ + = "t . . X —2 (Vviii)
x—1  x+2 | x-1  x+2 x—1 x+2 x-1 x+2 | Partial fractions of (x1) 2)areo’fthe
X—1)(x+
form:
-0331’50/(3 J/djyd/( 1}32—% 2)
X+ X+
A Bx Ax+B  C A Bx+C 1 A B o ,
X+l X242 1l 2+2 | x+1 x*+2 | x+1 x2+2 | Partial fractions of ( lx)( > 2) are of the (ix)
X+ X =
form:
_u}(jﬁd/fj J}"/dﬁfd/ - +1)(x )
Ax+B, € | s 2B | A BaC . *+1
(x+1) x-1 2+l x~—1 x+1 x-1 x+1 x-1 | Partial fractions of ( +Xl)Er Y are of the ()
X X —
form:
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CLASS 10" MATHEMATICS

Ch#5 (Additional)

D C B A < Ul Jlr’/f?
Fors hlo | Eordufies o F i Lo et be Serdi|
Small english | Capital english A set is represented by (1)
Numbers Urdu alphabets
alphabets alphabets
- e K31 4! .{l 1, 2, 3, 4, .
R, .al,wld'; ;l,wldf? Jl,wl,a/." — { } (ii)
Natural numbers | Whole numbers | Real numbers | Prime numbers 11,2,3,4,...}is a set of
| numbers.
—9
~ D N @\ Euo=?| ..
z Q NAD| gLo=? (i
A A NQ'="7
R N P <§\<g '\ _ 9 g (iv)
HO) — 0NQ'="
— —
{x\xeAandxeB} {x*x@&dx&B} A—Bz?utﬁw‘v (V)
N S — In scientific notation,
{x\x& Aandx e B} /{;{%b(% Aandx ¢ B} A_B=9
(\ 5\/ :;fEJuKJICC:.U:;:gL {1, 2,3, 4}
N 3
3 4 ~ {y) 0 16 The number of elements in the | (vi)
B \/§“\ power set of {1,2,3,4}
Qj\) :JU;JCJgJILMJ}Ec: {Cl,b}
0 -+ 2 1 The number of elements in the | (vii)
power set of {a, b}
AN(BUC)="?
(AnB)n(anc) | (AnB)u(Aanc) | (auB)u(auc) | (AnB)A(anc) (viii)
AN(BUC)="
X-Y=22 L xusy J‘-«_{"JJJ(
XY’ XY X'uY X'NY For any two sets X and Y, (1x)
X-Y="
5)—‘-‘-‘.("3“*:' "Jﬁ'.'\aoﬂda " Ada »-S:fu:'l.\
_ d . H w aJ
D C B A < Uly JF:’/:}
} w2 P v LB . |
(.5/41-—0':0’ N sl iﬂ.':"df A collect: £ well-d f‘:{-L fijgk 6.7’ (i)
S Set Power Set Subset Cal(igd.ectlon of well-defined objects 1s
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None of
these

:+bM¢5Q=<%\a,beZAb¢0>

Wl Pl Nl Pt 2 4ol 343 el
Rational Irrational Natural Whole a |. (i)
Aset Q=1—|a,beZAb=0 lled
Numbers Numbers Numbers Numbers Bt {b BASLA % o e
set of:
:;;_JMH Sus pilr s J ug;f L
4 3 2 1 The different number of ways to (1)
describe a set are:
Sr i et ; oé er§ etz 3 AS e (iv)
Super Set | Singleton Set rglgtty Subset A set with no element 1s called:
S (i s #3? éw.:“’d"‘l"r"/:; :%VM{X‘XEW/\XSIOI} )
Finite Set Empty Set Subset Infinite Set | The set {x|x e W Ax <101} is:
hbﬁ"(:; iﬂ.t‘cg <r 8\ s Th ‘ h %VMTJCJJ/;J:U?M (vi)
. ' e set having only one element is
Subset Singleton Set | Power Set |  Empty Set called: O\
(D )
W el | o VT emmeatnd |
— . ~{| Power set of an empty set is:
ROV S e £{1,2,3)
9 8 6 /\ﬂ(\;@ The number of elements in power set |  (viii)
= @\/ 11,2,3} is:
p NS
dﬁrﬁ-dzd’ N 0\5)
u:;’ 0 (\ | A e Uy s AUB }"yzAc_:B/’/l (ix)
Neane of (\:§K It AcB, then AUBI1s equal to:
these A
e sty
J.?; b B A :ﬁ:_bﬁ4l4AﬁB;ﬂA cB /7 (x)
None of o If AcB,then AnBis equal to:
these
B_A 0 B A :‘?_l:'ﬁ,:l,«:A—B?ﬁAgle (<)
— If AcBthen A—Bis equal to:
AN(BNC) Au(BUC) (AUB)NC AN(BUC) :“Lt’ﬂAu(AUB)UC (xii)
(AUB)UCis equal to:
AU(BUC) | (AnB)U(ANC) | An(BNC) | (AUB)N(AUC) ke Sl (xiii)
AU(BNC)is equal to:
BUA 0 B A ER LYY, AuB?uﬁqJ}'}/{'BﬂnAﬁ (xiv)
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u@;pakc

ity.oré%c

If A and B are disjoint sets, then A UB
1s equal to:

Juwd B tx 3 }l,onUK/l U~ A da;:“j
:4_3,@1)@@@ AxB

L L ® - If number of elements 1n set A 1s 3 and (xv)
in set B 1s 4, then number of elements
In AxB1S:
AxB 2 JB #3358 KN A xSl
. . ) : :ﬁ’_(}ﬂﬂﬂ(}/@mgt«&c‘: .
2 2 2, 2 If number of elements 1s set A 1s 3 and (xv])
in set B 1s 2, then number of binary
relations in A xBi1s:
IxR=1{(0,2),(2,3),(33).(3.4)}
(2,3,4) (0,2,4) {0,2,3} (0,3,4] ¢OxDomR | (oo
The domain of
(2.3), (3 3) (3 4)pis:
IR &\1 3),(2,2),(3,1),(4,4)} /i
(1,3,4} {1,2,3,4] (3,2,4) (1,2,4) edrRangeR | (o oi
~ \ range of
o _ .
Of& R={(1.3).(2.2).(3.1).(4.4)} is
{:\J/ZJ . l:'au',f—l,‘ﬁl-ﬁ!ﬁ"
v I 7 5T | o e tnurls(-1,4) fsd)
A€ Point (—1,4)lies in the quadrant:
NS
-2 | PR e Cuf e Ut 01{(1,2),(2,3),(3.3).(3.4)} 4
J‘lﬁ(uﬁﬁ) ;.uf{w(u’jl)f \ ij(;—ﬁ)jgl o | xx
One-One ot a function nto Function _ _‘
e ttee N Bunction The relation {(1,2),(2,3),(3,3),(3.4)} is

CLASS 10" MATHEMATICS

D

C

B

IR

A

= Uy

Ch#6 (Additional)

Jk"’/?l

5

7

4

2

:JJ’EMJQJ 1¢4¢5:6¢<8 s1+*

(1)
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Range of the data 9,11,4,5,6,8 will be:
- Xn 3 (X - X) Y X X=2dLliwdz, "
Z X n - n For a given data, X =?
7 5 3 1 ‘ _%a)l.pu':lr3r5r3 7¢9 sl ¢ (i)
The mode 1n the data 1,3,5,3,7.9 1s:

6 Al (Gusa (380 A Ja

e Y ac

C B A = Uiy -y
f;u:om/ s+ F(‘f) Sr47 . e b o550 0
requency requency . _
Polvgon Distribution Data A grouped frequency table 1s also called:
gu:.?:b gu,'l::w KUJ’f/’ M’%JJ;JEJK (i)
Circles Rectangles Squares | A histogram is a set of adjacent:
0 71 J,w J//M i JU?%JCWU!}KJJE
. Closed . . (ii1)
Circle Rectangle : A frequency polygon 1s a many sided:
Figure
I
5 v I ﬂ?@
i ol f‘:’d San /. G =4 'c“_.t'Uﬂ( d)mdu; & 3
Less than Frequency @ i ' (iv)
- Data L. A cumulative ffequency table is also called:
cumulative Digiebubion O‘fg‘ﬂ&\ e
frequency = ©
distribution /\ﬂ\gﬂ
— 72 3
), (?L? JM[PJJ?LZL}U[, J:Q(}Lf \ “{\6){_/2.1‘?[7}(/:%4}3’;) P fm;ﬂuﬁcmm;@;ﬂ&ﬁ
Ao MR pper SO : ' (V)
E Tans T diiv Class g)iﬁts In a cumu}atlve frequency polygon frequencies are
. AN plotted against:
Boundaries [\
3\ ; ] B .
Q}k A (V“J/zf‘cﬁ-t*/plvqJ;w/r@.;g.,wwa;
Cf a)j/yLZ Iy “'L/K:ﬂ‘; Juf Fel)
Denominator Group Number Arithmetif: mean i$ a measure th.at- d.etermines a value
of the variable under study by dividing the sum of all
values of the variable by their:
o Sd | e i _eslbiE P Sebiip |
. A deviation is defined as a difference of any value of | (Vi)
Sum Histogram Constant . _
the variable from a:
,*;33&( )!y‘dﬂj//{ ;lrdu/ :éc'-t‘%'?uﬁﬁd/ﬂjﬁiﬂ
. Ungrouped | Grouped : i an . (Viii)
Histogram A data 1n the form of frequency distribution 1s called:
Data Data
o K F el ks :;.t*m/;ldwéékJlﬁfpif?auuffu{lwﬁ/?‘f
— . Mean of a variable with similar observations say (ix)
Zero K itself Negative .
constant k 1s:
»g e =i _ﬁ:_t*muu"ua.é_/ S Lesi L (xX)
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Origin Ratio Value Mean 1s affected by change in:
o5 N J ek e e bl S & Lol QL (xi)
Rate Scale Place Mean 1s affected by change in:
e L] (i e = Mﬁ:fl{dl/lg.bsldpiulg)(fdj
N i = Sum of the deviations of the variable X from its mean | (Xi1)
Same One Zero .
1s always:
[ il . :cﬁ_t‘M&ﬁ/ché n® ‘..,,/‘U"’w:_w R Ko Momennis onin K
- 9| 53 o )
Geometric " The n"positive root of the product of the | (Xiil)
Mean Mode . .
Mean X (s Xy Kgpureerennn. ,x_observations i1s called:
A . ol 54 e EI bl o 56U Ll X[, Xy Ky X,
b . . . -
Harmonic . Geometric | The value obtained by reciprocating the mean of the | (XiV)
Median . .. '
Mean Mean reciprocal of x,X,,X.,.c.c..... ,x_observations 1s called:
b/:I.._ETﬂ » . :LJMAJ'JLTJ/ML}C.—JU:}U"J(
V23 b ; ’ " '
Harmonic - = The most frequent occurring observation in a data set (XV)
Median Mode .
Mean 1s called:
e bl ez a2l
Lol 3> 31" s . 2 o - :
‘ . The measure which determines the middlemost | (XV1)
Mean Mode Median
observation in a data@@;s called:
; . & L“U/ ¢ v Lpf |9 2 el
S u] T, o O S .
. — . The obse at\iéiﬁs that divide a data set into four equal | (XVil)
Percentiles (Quartiles Deciles
parts are
Y
ulﬁjd// 2 o /\ﬂp ¢.t’%MK._,u u";u«‘o/
J b/ cee
Central . . @/ﬁé”spread or scatterness of observations in a data set | (XViii)
Dispersion Average\g )
Tendency 1s called:
S :
o ul%;d// (\ _Ll:'U-y(,.:k:,K ;/(PfC}J&jut;lrﬁ;k,Lg_l
3 ‘ " " " :
Central < . The measures that are used to determine the degree or (XIX)
Average ~~\ Dispersion Tale
Tendency\ v extent of variation 1n a data set are called measures of:
W= B (5} P T
e - » S Leuded 5
o The extent of variation between two extreme | (XX)
Quartiles Range Average . .
observations of a data set 1s measured by:
fb:lQWLUﬂ/LJlflabfﬁlqpiml,a Xi(i=1,2, ..... ,Il)
3 A1 p
R 710k = 2 —e bl ;
Standard —— o s (xx1)
Range Devisticn Variance | The mean of the squared deviations of x. (i=1 20}
observations from their arithmetic mean 1s called:
Lol Ly p L fle bosldlo Leta X (i=1,2,.....,1)
Jl/‘!dzkv - »;I,ET(.: -U.?Té j/jﬁh:,,z
Standard Reogs Harmonic | The positive square root of mean of the squared (xxii)
Deviation Mean deviations of x,(i=L2,....,n)observations from their
arithmetic mean 1s called:
PARAQX Q% @A
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CLASS 10" MATHEMATICS

Exercise 7.1 (MCQs)
D C B A =iy R A
L3 i So15 Sl 4 e b s S LR F 2 e .
collinear non- eallol unnaralle] | The union of two rays with some common (1)
collinear P P end point 1s called angle.
45°36' | 45°21'36" | 45°26'21" | 45°36" | Aas 43367 TDPMES | g
45.36"in D"M 'S " is equal to:
' ’ 180° T ‘=efho 1
360 130 - 180° r 1rrad =2 (iii)
, 2T
et}
90° 120° 360° 180° 5 (1v)
T
—vrad ="
3 pox
e, 0 3600 0 -L/: :.:;.E'ngﬁj aj'bb’g:ugl
70 120 180 A complete circle 1s divided into: )

\ N

A .
CLASS 10" MATHEMATICS Exercise 7.2 (MCQs)
D C B R OZA: }\> = Uy Y= //
A {:Sj Ljf” s /g J"'( L1671
360° Y - f S‘*;jﬁ % W E'E A complete revolution of a circle 1s__. Q)
. @/§ Both A &
PR C
| 1 2 0 ] | ) :(‘.;..;JKL-}’)CUZ; .
) 0 P re B 76" ) (70) Area of a sector = ? (11)
€ 50 sl s Z ¥ rds ;Luf
90" 120° 360° 180° The angle between hands of a watch at 3 o' clock (i11)
will be:
CLASS 10" MATHEMATICS Exercise 7.3 (MCQs)
D C B A < Ul ol
&
e G 26120 slibof
—240° 120° —360° 180° Which is the coterminal angle (1)
with 120°?
Lk | /3 l/:.: L;f, ?;‘;,gljdeJ(-IZO 1y (ii)
1st 2nd 31 4rd The angle —120° lies 1n quadrant?
by [ 13 P 57 S T =330 Lo | (i)
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1st 2nd 3rd 4rd The angle —330° lies in quadrant?
F : ol ; WA F |
Three = Seven Nine There are fundamental (iv)
— trigonometric ratios:
| sin @ _cos@ | S ern P US
=2 | Ead=_—g | 0 O=ng | €9 =" | Which relationship is not correct? (v)
1 A ; 1 cot60” = __: _
J3 cot60” =__ : (V)
th
CLASS 10" MATHEMATICS Exercise 7.4 (MCQs)
D C B A = Uly Jk"/?l
sin“@ =1-cos” @ cos’@=1-sin" @ ?ﬁ;.u.:f;wﬂdwujf _
cos’ @—sin® @ =1 cos’ @ +sin” 6 =1 Which relationship 1s not correct? (1)
1+ —=cosec’d
sin” @ cot” & tan” & sec” & . (ii)
1+ =cosec @
2
sec” x—1=
sin” & cot” @ tan” & sec” @ cec? x_] (iii)

D C B A ;\,\(‘&\ <;§“ Ul s A
D kx\';“\_.% “4 e o
i L d/@ ﬂ\d \(:)%_/L‘_ft M J;K’ﬁJ/lﬁngU%Ube?ﬁ/‘fﬂ .
A Radian | A Minute | A Degree | AnAngle The union of two non-collinear rays, which (1)
S n‘f‘f"(} have common end point 1s called:
<O b - . >
, b KU L Fe 9 f"/ et Fed st S KT g
B ("/uﬁliﬁ:l @%‘ O(“/d IGY g
Circular MKS \T“ CGS | | tde (i1)
System System j‘f}a gesimal | Gygtem | The system of measurement in which the
' [ ystem angle is measured in radians is called:
3600 1200 360 20° = (iii)
=Sk 3%
30° 150° 135° 115° - (iv)
— radians =
4
) 0= Jytan0=+/3
30° 60 45° 90° (V)
If tan®=+/3 then 0 =
l1—tan” 0 14+ cos* 0 1+tan” 0 1—sin” 0 sec”’ 0 = (vi)
> 1 1
cos© >0 2cos’ 0 2sec” 0 4 _ -
o 0 l1+sin® 1-sin0 (Vi)
V3 i 1 1 -
£ J2 N > ~ cos ecd5° = (viii)
' 1
sin 0 . : sin O secOcotO = (ix)
cos© sin O cos o
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CLASS 10"* MATHEMATICS Ch#8

D C B A = Uy = //
j‘_L?“ Sz L;j“ =3 _a;;_JyEJLJ’I"E" )" (i)
Congruent Equal Approximation | Correspondance | The sign "=" 1s used for:
J’AL?" Yol =3 ﬂgfauﬁul el 1 (i)
Congruent Perpendicular | Correspondance | None of these L is the symbol of:
'y I3 i: e _UJLﬁdr:l}_é:M';ug (i)
One Two Three Four A triangle has angles.
505 -&.‘L’f"*,:»;f),fl? 2l sl o o7 r[/..# ..::‘_.l:"ﬁdl.’x“ur‘."féb-ﬁ .
Angle triangle Right angled Obstulate All of these | H- S pastulate used for: (1v)
triangle angled triangle
'%Wléiuw-_-_;r‘réﬂ-n _ch_”
3" A ,::U,.?/E;’ u’"ld:(::.. 5 e (v)
Acute-angled | Right-angled | Obtuse angled Non@’fﬁg H.S = H.S postulate is used for |
triangles.
&Lk £ ol 515 Y S & “’ s gl et i)
Triangle Parallelogram Rhombusvﬂ,\\ Trapezium Opposite sides are congruent 1n a:
ﬁ) _ZU}f%,e!}c;J_L&wLﬁCLWUldJQ
30°,60”,60° | 60°,60",60° 3\69@ 30°,60%,90” | For equilateral triangle, angle will | (Vii)
be:
é—/é:-—ﬂ/’.’b-ﬂ‘d J\Z:}‘?c:..a/bbwj | :_.-Qﬂc.ﬁtgﬂ}o)b
oy - JE’QS 3 A7 Acute angle 1s formed when: -
In semi-circle Segment Segment less All of them
greager (han than semi circle
semi-circle
ad 2 ol 180° Qi: - i;’i’;”’;nii?’:;s;'” (ix)
Acute Obtuse Right

than semi circle 1s:

CLASS 10'" MATHEMATICS Ch#9 (Additional)

D C B A - Uy Jt“'ﬁl
St Co coneip S f e AL bt Lo I
C—rr C—rd A&B 94174 Which statement is true about circumference of i
— p— . l
Both None of these | 2 €¢le”
A&B
d — 27‘ d = L | — 7 o = L :%-uwu‘lf‘))é d /’)Lé.jlu:l r JI:;Z:L.?IJ (ii)
ﬁ
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Relation between radius r' of a circle and

diameter 'd' of a circle 1s:

{/_.,';brﬁﬂélﬁl/..‘.{:..u’:’:ol:'«'/‘é:c)fmc_fl:b;o'iu;; L s

/ﬁ? s /3 | A ..f_.t'Ll:( (iii )
Sector ArC Chord Diameter | A of a circle is the plane bounded by two
radii and the are intercepted between them.
i e i £ ol 157 -G;.Lﬁ;f_ug_ﬁ/ﬂu/c.wyﬁ/{u: .
- - One and only one can pass through three (1v)
Circle Rectangle Line Parallelogram : :
non-colinear points.
??JﬁCfZZ:JIJJJHJ/JLL.fUJK
4 3 2 1 The length of the diameter of a circle is how (V)
many times the radius of circle:
7// JW MCBG' /‘5 o £ 78 e B 715 (vi)
Centre Tangent Secant Chords The greatest chord of the circle 1s its
/ﬁ’? J? /3 A _Q.L“M ST S LA (vii)
Sector Arc Chord Diameter | A chord passing through the centre of circle is:
?%Cﬁj}ijljugéu:lijbﬁ/jg
4 5 2 1 Through how many non-collinear points a circle | (Viii)
can pass?
s J:b}‘/ 13 £ oyl §157 _LJ.LJLEJIJJL/L,&EJJ}/UJP,MUKEr.'"_ldju“'dﬁ“” .
C . Locus of a point in the plane equidistant from a (ix)
ircle Rectangle Line Parallelogram fixed point i S”fsﬂﬂe 4
360° 270° 180° 90° S " bl S (x)

QJAAAdMAdJA.\.ANu %

Corr 4- c1rcle 1s divided 1nto:

e.\d UAJS u“‘L‘J

o C 2 p
)ﬂ:g s MG@\ ji“ﬁ . In the ci 'ng/t Mﬁiq&ﬁjgj (i)
| AChord | A sesan Y A n the circular figure 1s called:
Diameter X :ie}/
f N\ e Qe ACB U §a.715
/”AJ ol sl | Ui : i
Diameter AChord | A Secant An Arc |, @HIH the circular figure, ACB 1s called:
Z j' 7y BEEL) JP L @B < O/t 1k AOB 4 F $o1; i
A
Diameter aldionl | A S i In the circular figure, AOB 1s called:
uju"db/ X ut-fz.:‘_.// CD .1 AB 733 u’“;ﬁ’dﬁjb
\oF S S S5 y Lyt (iv)
Perpendicular Cong_ruent Non Parallel , Ina ciﬁular figure, two chords AB
Congruent & “and CDare equidistant from the
centre. They will be:
L/ﬁwaf uj ‘ ) v . [
o e 5 e “ | DI P I 1Y )
2 1 All Equal | Radu of a circle are:
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Half of All Double of
any chord | Unequal the
Diameter
o e . . o [ ¢ .# A ‘,:
o o £ Y% | A chord passi thf-L U::/;ﬁ ,4.,,/?;,/;-55_,14; (vi)
i fererce Secant Diameter Radius A chord passing through the centre of a circle
1s called:
o v 7 . e e s 4
y: 7(/ » s, | .:.:.. Lj‘:d—.//,-'gh—@itd)}'.fé/ﬁiéf ) )
. — - . Right bisector of the chord of a circle always (vii)
Diameter Centre Circumference Radius
passes through the:
0 /13 2k P P E }gﬁ’_ﬂ) LB I :?.t‘w/ﬁl}fl/f&gf;w L sl Us 33382 3 1615
Segment | Diameter | Sectorof a | Circumference | The circular region bounded by two radii and (Viii)
of a circle | of a circle circle of a circle | the corresponding arc 18 called:
. - . L ‘ . < ' oot "]
Lfe *—g 7»{' 2 J 1 The di “:-LfMbeJ//zf:i KE 0/1’1:4-/ ) (ix)
A Afe A Chord Diastistar Radius & 1§tance OI any point of the circle to 1ts
centre 1s called:
;J’jd'bx . -.’."_.t'M U')Lﬂ[//LHJKLLjU
T . Ve Iy . N, . .
. Radial . - Line segment joining any point of the circle (X)
Perimeter Diameter | Circumference
Segment to the centre 1s called:
Uf@/LMJ’/YJKLW (‘l/éd,w"
A 4 071 Sl Q ..a.l:‘JJ/ (xi)
Diameter | Circumference Circle Radius é of a point in a plane equidistant from a
/~fixed point is called:
A 1 ; o s i
© 1 é @\/KO | q_aw“ALz_//;U:/_A» (Xil)
D) The symbol for a triangle 1s denoted by:
VEOM v bt s 2
360° 270° 180540 90" e o (xiii)
N A complete circle 1s divided into :
: AN ]
d;( ::_uﬁ /! A{ N\ P ¥ 3 .
: : \j ?Lbjfakﬁjfjiajb
¥ cF 2 £ o . -
— Through how many non-collinear points, can | (XIV)
None of Three Two One | 5
a circle pass’
these
WIRORROR

CLASS 10" MATHEMATICS Ch#10 (Additional)

D C B A < Uy I /1‘
5L b2 b6 S 538 et/ L S s i
On point | Two points Three points No point Tangent line intersects the circle at:
S5 u’.?/uf ) of JJ/ :J?Z.::E,{:L./nbgu’luﬁlu’vg/__jb -~
Not —. The tangent and radius of a circle at the (i1)
Parallel : Perpendicular None
perpendicular point of contact are
"3 (i3 Sl u; Qu‘élgéf/u’tfﬁffﬂﬁiz_./l;f
Only - " ) How many tangents can be drawn at a (i11)
Only one Unlimited Three ; . :
two : point on the circumference of a circle?
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IR _fl_.?/" i u; ?ujélgé/u’vz,ga.ﬂ)c.ﬁ&ygoj
Only Onlv one Unlimited Thr"ee How many tangents can be drawn on a circle | (1)
two y from a point outside it?
| ﬁflfd:}'muflgé/u’vj’:éu;/fé}'uffi;ﬂ)
4 . e s et bl | ()
Unequal Equal Supplementary Complementary | 1y tangents drawn at the ends of a chord,
make angles with that chord.
Luf;u:flj 4;):1’(:53/;[;/3;&“(!;?!;»/7
Q:/_,u/ Lf/ q:/(cﬁ U:::/J/ _g!f,a{b(&/.i}"{LU:"JJ&UIJ‘GJL{'JJK?T/ .
do not touch cut None If two circle externally then the (v1)
touch distance between their centres is equal to
sum of their radii.
S 127'815' /J -, | -%VMMUUZCJ,EEJJ]}QQ/”JVL;?I) 3
- . A line which has only one point in common | (Vi)
Tangent Secant Chords Diagonal : : : _
with the circle 1s called:
o EGL&HJVZ;:):_,EJ&:/;L;?I)_Q
5 AV 3 lfu{ U (Viii)
Halt Equal Double Triple Two tangents drawn to a cricle from a point
outside 1t are of in length:
g S Bk V) by SLS L (ix)
Centre Tangent Secant Chords A circle has only one :
¢ e w Qe o~ B ?Qgg\;
IOJ:‘NQMQJM°MJA (6&

s OS el

D C B A ;%\%\(, = Ul © A
AN o e
.ﬁ/\ﬂ @) P :Lt'l?Lz’@ PTQ U:(.fdd/c’—jl).l‘}
B T L Fak NE | 7 ) . . .
P In the adjacent figure of the circle, (i)
A Secant | A Tangent | A Chord i(@m/Arc N =t
LS the line PTQ 1s named as:
— \wl b ; —
S EPQ (\\ > i & s sleJ1s OT e ryd_1s0 7//
< OT st L W B < e UL PTQ
— . OT || PO OT OT LPQ . . . — (ii)
OT 1s right OTIIPQ QLOT In a circle with centre O, 1if OT
bisgc_tqr of 1s the radial segment and PTQ1s the tangent
PQ line, then:
b3 st Fdn
Gr62832 | &,43620 | &,314.16 7 “_JJQ& df
T FCr62.83 1 =3.1416 ,» mOA = 20cm /|
ol 43 620 a1 4q 6 62.33sq e - ) In the adjacent figure, find (1)
D250 s 0% il semicircular area if mOA =20cm and
cm cm cm
— n=3.1416
£ boibe i S s
£188.50 | (£125.65 | (62832 | (#3142 n=3.1416 4l mOA =20 4 i)
188.50 cm | 125.65cm | 62.832cm | 31.42cm [« o | #mihe adpecsnt gurs, Lind
halt the perimeter of circle with centre O 1t
mOA =20cm and 7 =3.1416.
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d d 7| : G e
b4t be i th/ ’ Sineke_ 71 :u}chﬁJ}/LL’a?»ﬁVL(_fl;Lu’?bugl
Secant Tangent Cosine . . . L . (V)
. Sine of a | A line which has two points in common with
Secant of | Tangent of | Cosine of . . .
. . : circle a circle 1s called:
a circle a circle a circle
.f[ .fl f' . . ) * ;
—— it E’/"f"’ Sinek< /1 L oS P B L2 AL S B
Secant Tangent Cosine . . . - (vi)
; Sine of a | A line which has only one point in common b
Secant of | Tangent of | Cosine of . . . .
. ; . circle with a circle 1s called:
a circle a circle a circle
LEQL&HJVZ?J)LEJJ/}A:LfIJHQ
t"(df £ A4 — - n (vii)
triple double equal half Two tangents drawn to a circle from a point
outside 1t are of 1n length.
Py s s AP e b S LI K s L] (viii)
Centre Diameter Chord Secant A circle has only one:
S 1;..550’( L ., .
, 3L 5 5P )
¥4 éfw - 428 4B -« ¥ fz_ijLf}p}._gl :
' Bingle S Lhwes A tangent line intersects the circle at: o
No point Point Points Points S '
at all (&/\
, Sl 4 L -u*z_f/(ﬁ u‘u’j Juéf/us/*é/ﬁigm
Yol Jﬂ/"f" ik
. . non- g ﬂts drawn at the ends of diameter of a (x)
perpendicular collinear parallel O }
parallel i are to each other.
g/gé/_d_ﬂ) ) @
) PPy S e ,. ,
Vg the . " 4 7 % :c"_l:‘)’:,i-"l;g}'/l/ Lu}jl)d}L‘-‘Lbé_/(ujéj)bd}/}H
twice the | diameter t Oeflj 1us(\ Cx@ zero | The distance between the centres of two | (XI)
diameter of each a@ length | congruent touching circles externally is:
of each circle 1%1
. (\\\
circle Q
g -ﬁz.(Su'lum O }(/uﬁyJ(_jl;Lﬁej
:fﬁéyJF3?x4£G£(4¢//};,gﬁ
9 (7 (6 3 : In the adjacent circular figure with |  (xii)
9 cm 7/ cm 6 cm 4 cm 5 centre O and radius 5cm, the
length of the chord intercepted at 4cm away
from the centre of this circle 1s:
DC O ?//de/;}l;i.ﬂa,;
’ - AB £
A A B “;AB/” Ji
v 5 mZAOC =120°/]
60° 50° 30° 40° e — | (xiii
—e b2 m/ACD JDC|| AB (=il

In the adjacent tigure, there 1s a circle with
centre O and diameter AB. If DC|| AB and
mZAOC =120°, then mZACD 1s:
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CLASS 10" MATHEMATICS Ch#11 (Additional)

D C B A =iy R A
_ | Qs uffdb&béiug;f)df/dau*/;;nuﬁ;}l;,gl
J 417 VA% S Ut Q)
Congruent Equal Unequal Incongruent | The arcs opposite to incongruent central angles
of a circle are always:
- Ux f:l}d}(/ﬂgﬂ L I
360° 270° 180° 90° The semi-circumference of a circle subtend a (i1)
central angle.
J;LT“‘ 'y Al Jﬂlf"/ -UELﬁ_L/:u'J:TMugiﬁ..uj;ﬂ)u%%ﬂ}df/gjﬂl}”})
—— - " ) A pair of chords of a circle which make (ii1)
Congruent Equal Unequal Incongruent ol
congruent central angles 1s:
_U:U:J'Tugu JJDM}O}?%L"&@ ,:Jl}d}'///"} Kg_jl;)/l
Ju 4 A4 S f ZL (iv)
Congruent Equal Unequal Incongruent If a chord of a circle substends a central angle i
of 60°, then length of the chord and radial
segment are:
fiéé}(}:wéw?% 2340 §7 89 ;Cl
) i i ) -~ = Yo
50 69 L 2 An ";Substends a central angle of 40° then (v)
[ corrésponding chord will substend a central
,,_.ﬁ\\/ ele of .
Qﬂp@ 18] /,;?‘;;.Jt;,,:ud/ 630 L JE I 4. é.);l)d,(
30° 60° 30° Lo 5l |
Q\Qg Out of two congruent arcs of a circle if one (v1)
(\ﬂ\ P\ makes a central angle of 30° then other arc will
RO g make central angle of:
<\ ) . o
‘/‘“\ﬁﬁ\/ fﬁl}dﬂ//UUZ:.::.?»U:MMUQ’HJJIJ;J:U‘JJ:L.}’I);Q
AN} 7
50 ot W F0 The length of a chord and the radial segment of | (VI
g 2
a circle are congruent, then central angle made
by the chord 1s:
,:a:l);r‘f :«3'}67// I PG -wgfejuLl)iC)L{‘J}LUV’}J}J{://Lé-jf)d)/
Incribed Central Quadrant Rif The angle subtended at the centre of a circle (Viii)
ght angle s : :
angle angle angle between two radi of circle 1s called .
e 3 " ) et ol |
i Ax Chord Diameter ;%Sny part of a circumference of a circle is known |  (iX)
JUJ /’3 sz ( y; -wz_ﬁ—éu‘g LUJ;')J"L}' (x)
Radius Diameter | Circumference All Congruent circle have same
3
& pos ” ol :&
akcity.or . N\
D C B A =iy R A
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J1ss K < Ul ool K60° £ }’// 73 Uls JLJ (/ 4 J:'

N

[~ (1)
4 cm 3 cm 2 cm I cm A 4 cm long chord subtends a central angle
of 60°. The radial segment of this circle 1s:
d)r/ Ulﬁia;..}'}_uj/‘!/* ugu JJ'))J}’}) u.fé_fb ..{l
60° K 31 g
75 45 30 The length of a chord and the radial segment (i)
of a circle are congruent, the central angle
made by the chord will be:
30° :,,1;‘_5}(/- Ku’fugﬁc,uﬁuyffu‘*»&_ju..{l
20° - f;l}d//(d/»;ﬁ
o 43 13 Out of two congruent arcs of a circle, if one (in)
arc makes a central angle ot 30°then the
other arc will subtend the central angle of:
ST 65 L1 40° ST KU L
A" -0t .
80 60 20 An arc subt nd}s a central angle of 40°then (iv)
O .
the corr i@i}i ng chord will subtend a
central @ e of:
A\ . . a
;,\G{(:i\ u:‘: uﬁ [ oa & < (J3/93) Lf 1y d//’d’ L 9y
L - o s, . QN A% )
Si15 - S g JE (G Lus| (v
Parallel lapping Incongruent Congmeﬁt A pair of chords of a circle subtending two
<‘6‘<) congruent central angles is:
N O\/ K :Jl)d}r/g}')d:u’lq_ 60° ,:jljd}rfgu’;ug
20)° 60° N 20° If an arc of a circle subtends a central angle (vi)
@ of 60°, then the corresponding chord of the
arc will make the central angle of:
—c Lty fjiidf/gbfﬂégjb
360° 270° 180 90" The semi circumference and the diameter of | (Vi)
a circle both subtend a central angle of:
J}J/LU:U’ of Z 7 - Z
' LJ/))iJ[}J f A’ALJ’JJ {C'—ru/l)) _d/}’f &gJ};ﬁLQISOO :f)’)d//';}gé.jbﬁ
A a0y le.o Equa = the | Less j[han The chord length of a circle subtending a | (Vill)
None of | the radial radial radial . - |
central angle of 180°1s always:
these segment segment segment
uggd/u’l)u;l}'jﬁfﬁ;t'l}; 60° fj'jdf/;’(;jl)bg/ﬁ
s8f i1 # A £ ot S (ix)
Perpendicular | Parallel | Incongruent | Congruent It a chord of a circle subtends a central angle

of 60°, then the length of the chord and the

radial segment are:
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J; s & (- Z Uyl d// J‘%L?" /:f 9 o &7 ....gl
e ila J g S WA (x)
Perpendicular | Parallel | Incongruent | Congruent | The arcs opposite to incongruent central
angles ot a circle arc always:
IR

CLASS 10 MATHEMATICS Ch#12 (Additional)

A
D C B A = Uy .
N
.,;'_ugi%;m#mdgf/éuf‘ﬁuguﬁfAB
ms2=2msl| mL2=3mLlm
m/l =2m/2| mALl =mA2m (A‘g@‘ (i)
In the adjacent circular figure, central
and 1nscribed angles stand on the same
arc AB. Then:
T 7T 7T ..%.l:"ﬁ,:r:l}ﬂ‘;g_)fé.jbﬂ ..
’) 4 6 * AP;@;{gle inscribed in a semicircle is: (1)
Ya\ROI _ . _
(&§, Zu/:(u‘i :ab'?fjl}d//%/fﬂg)’ J:L.fl;u/l/
N
. 5 a&\o - Uy g,:rju.-f}j
=~ % s %\(, The measure of a central angle of (iii)
Half Equal Double @P c minor arc of a circle 1s that of
Q \ﬂp the angle substended by corresponding
A% major arc.
N\ . ..
. # 0O z & , ¥ { 02) §7 .y 31J
2 sz t %\\9 u/u: Th 1 -%—-LJ" ; !‘L{b {IJJJ”’&-‘WJJ?"JIJ (iV)
TalF Equal | ble Triple i g(%:1 eamg e in a semi-circle 1s a
S\ - _
§ e N (\§lg\) > “ALn ALl s G LI 2L
i @ ) YA T Any two angles 1n a same segment of a
Supplementar (V)
PP Complementary Equal Different | circle are
y
d}(/,f,el}u‘; ;;";c,::l}d'// ?;;_;wu;yufuyﬂia,;udf/ma“_m#
ct590 s K | et 180 o6 | oyl ko = ksl Which is correct relation between
Their sum Their sum Cii —— ole | C eﬂ aleat b ole circum angle and central angle? (vi)
1s 90 1s 180 1s double of is double of
central angle | circum angle
AABC = ADEF ADEF = AAB(
_I_ H oe
— - AABC = ADEF ADEF = AB¢ ™™
1 ~ e dndei e L | (vid
— —> R, N ’
Symbol used for similarity is )
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12 el (Bdia (380 004 o,

s OS paly

D C B A - Uly K
‘mAC=3cm (“AABC &bt o/ =46 u’f
e e Urls £ &di simZC =90° s mBC = 4cm
e S sd_15d S
3.5 cm 2.5 cm 2.0 cm 1.5 cm , ‘ JM, o _ ’ (1)
a circle passes through the vertices of a right
angled AABC with mAC = 3cm and
mBC =4cm, mZC =90°. Radius of the circle
;;!dﬂ///._,u’}'o’cufluﬁ AB Lﬁ:
) idﬂ_)lb:‘;
m/2=2m4l | m/2=3m/l | m£=2m/2 | mLl=ms2 . . . (1i)
In the adjacent circular figure,
central and inscribed angles
stand on the same arc AB. Then:
v " m/l > ms3=75 S f
e T30 | Y Erbmon|
157,75 (S 375 - 1° 1 - “In the adjacent figure if (it}
9 375 m/3=75°, then find m/1 and
m/2.
\ I 0 58S s
o
) 50° ) “Q @ €y X sl ‘
& = (\&i G Given that O 1s the centre of (v)
@N\ the circle. The angle marked x
/@S\ will be:
N\ Y - .
QY Inpd O LSS pEe i1
) 1° €30y slinss @
0 0 25 N . -
73 >0 L6 3 Given that O 1s the centre of v)
the circle the angle marked y
will be:
#le O //Kz_juuif
:Jl}g/&;ﬁﬁwﬁug ABN
128 96° 64° 32° il x « AOC (vi)
: In the figure, O 1s the
centre of the circle and ABN is a straight line.
The obtuse angle AOC =x 1s:
e X i O f/ng«uuﬁJﬁ
125° 2920° 110° 550 Q In the figure, O 1s the centre of (vii)

the circle, then the angle X 1s:

N
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60°

45°

30°

15°

e X i O L Pl it F
In the figure, O 1s the centre of
the circle then angle x 1s:

(viil)

60°

45°

30°

e X Fe O S st F
In the figure, O 1s the centre of
the circle then the angle X 1s:

(Ix)

125°

100°

e X Fe O }'//Ké.fl;uﬁf
In the tigure, O 1s the centre of
the circle then the angle X 1s:

(x)

CLASS 10" MATHEMATICS Ch#13(Additional)

Ve
D C B A = Uy
#
LE/ ' Jl:{ Z./{(' Sl %@fﬂ d-aﬁlgbfw i 1
Amrican Greek English Latin l;fw geometry 1§ derived from
st S CLlp | P 0.2 é“é\ e I
Shape of Sine o:f — Position l @% Geometry 1s the study of: 2
figure 2 of figure ;%Lﬂx
Fd . W < .. 9y
Y ) -.:.;.L“:f;/b m‘diju’: 8 3l
S ”’”'Qg The angle in a is a right angle.
e L P Y4 b )
Greater Yy ﬁi&}? a/lu)‘( 3
segment than | Semi-circle Qsa nt | Complete circle
a semi-circle (\H\ “Uthan a
semi
circle
. S e Y1 P w2 (il
Py o Y LT ) T
5 S 30 Acute angle 1s formed when:
iaddert g Segment (VY 4
In semi-circle egment less than | All of them
greater than semi
semi-circle .
circle
.o _ _Lt‘ﬁgjljﬂl:iu’:ﬁ&_:f/{c_;?bﬂ
i il - 180° Angle formed in th tless than semi | 5
ACTte Obtuse Right ngle Tormed in the segment less than senn
circle 1s:
s Py A5l v | -a:_'..t"}f_a/b'}’a‘l:',f}( a:..u::Url;L&,ﬁ'
_ : : escribe The circle passing through the vertices of a 6
incircle circum circle ; None : :
circle triangle 1s known as :
360° 90° 180° 120° b i | g
Each angle of regular hexagon 18
ﬂ//u/"V f/d}f }(/)}j b?}'// -Lt’“ﬂ( L./u"/ui’du,ﬂ/u;’péwfubu
: : The circle which touches the three sides of a 8
Circumference | Ortho centre | In-centre Centroid . . . )
triangle internally 1s called:
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. 13 e 75 e bl L6, o
Boundary Radius Chords Diagonal The circumference of a circle 1s called:
1% B y 35 e b Bl ST S 1
Tangent Secant Chords Diagonal A line 1ntersecting a circle 1s called:
J:}f? bﬂ/:; 315 d)lf"/;; -UELﬁJV?UJ/L/’JL/_./IJ
. : Tangents drawn at the end points of the 11
collinear non-collinear | parallel unparallel : ; _
diameter of a circle are:
P YAVA _il? U B & C The | b of -deﬂugHJJVJ!G"HJ;UJJ;’MJ 1
Equal Unequal Different Both B & C e length o twq transverse tangents to a
pair of circles are:
L/U/{,Ubk}!/} ) o L/u/{‘ul’éujl }?m,u:zi,ufLufm,wuyﬂiﬁ/l:ummﬁ
o 4’"_/ Cg £ L/'/u'.:‘/dﬁ Wt -Luyf;,?l) 13
Intersect Touch each | Do not Touch each | 1 the distance between the centres of two
other Intersect . circles 1s equal to the sum of their radii, then
other internally . o
externally the circles will:
CELL WS P E L st nd S
4 3 2 1 common tangents can be drawn for | 14
two touching circles.
f’ujébé’/‘_)’l/_f}? Zéu;)’l;é’lf&?/f.n
4 3 2 1 How many common tangents can be drawn 15
for two disjoint circles?
Jal}" ) oF $315 (.55'?'/:; @{;n‘ | L-/,!JTJ;[KJUJJ)'JV{.LJU
. T gent and radius of circle at the point 16
Congruent Perpendicular | parallel unparallel By
A A
) ) - N \\/ QL(}!’MJ&J’))LL-/U&LJJ/L’) Lé.fl;u.fi
”ﬂ/ug ~ S «""’/Cj: ,-f-’/'J
1 Time 5 Time 3 Time @ 1 The length of the diameter of a circle 1s how 17
/w/rlr many times the radius of the circle?
. - r LB AN W
E — — “\’f O The measure of external angle of a regular 18
Sl 4 6(\{\ O\ hexagon 1s: *
- e A ;;. -%Jﬁ;lﬁfJUz'sl)J;/}é:uP(M.g
Y 1 T/\Q?‘ 5 T The measure of external angle of a regular 19
— O\ octagon 1S:
(Kl s S it
sl Lals |, 2k A triangle can be formed if ... are given:
TCI’IUI.:PIU: de:f :;jl}h:g %}U rl;f 20
e SIEES O T'wo sides One side All of them
triangle and an angle | and two
of triangle angles of
triangle
g&aﬁ‘:,luji{:ﬂu)‘dﬁté:uzjl}&uﬂ d:c.‘ﬂ'*(fr
Y PRI S o "y | | -Ugg ------ "1
Circumference | Ortho centre | In-centre Centroid The internal bisectors of the angles of a
triangle meet at a point called the ...... of the
triangle:
fﬂJ!;JIujLﬂ,EFJ ‘JLJJ/L@MIQJEZ:&PJ(
("
Y I T "y | -u.?'ji -------- JER 4
Circumference | Ortho centre | In-centre Centroid The point of concurrency of the three
perpendicular bisectors of the sides of a
triangle 1s called the ....... of a triangle:
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L LA ey y e .- S (5 Y = BIGLIbF ol o Ler
Non- C =L : Three or more than three lines passing 93
oncurrent : g _
concurrent . Triangle Rectangle through a point 1s known as .....:
: points
points
ey s - ., e t:uga_,;rth ;ﬂtéugi;l}ui,;z:wf o
Concurrent Radius Chords Diagonal ngie 1sec- O O s Lhree Angics ol a
triangle are:
bt LA ¢ b L5 » e | Bl n BALNUE L
Non- C A : All three altitudes of are concurrent: 95
oncurrent :
concurrent : Triangle Rectangle
: points
points
g Bl n BAUG AL SV IPERS
S oo S p8asf e S, _
. : <~ | 26
Perpendicular bisectors of triangle is called:
c:.L“/(‘JJ u"'u;)’) dl;’LJ,{l/,c..lbe-dug/guL‘
4 3 2 l Median of a triangle divide it into 27
triangle of equal area:
UEUUJP‘ Ozl $alr Gy k¥ ,-f,sl},.?/'&;’ :ufyf _.Jm,aﬂuy‘d' Lr“‘d..bn)iuiﬁ.fl/
: : ) If two medians of a triangle are congruent 28
1sosceles Equilateral Scalene | Obstacle angled : .
then the triangle will be

— — - i\\y < -
13 e (Beia ol o Ja o€ i DS

2 .
C B A ”'\ﬂ ! <= Uy )y
N \ -f
" b yz ((S)& :‘a.b'ﬂp(bfg;fb )
Boundary Segment Chgrd (\;\ 1 The circumterence of a circle 1s called:
%y L e el /O |
Chord Secant ﬁ»:/s@/ angent | A line intersecting a circle 1s called:
% %
. a \/ /ﬁﬁt ;,)cw :%bMﬁuyJJLUYIJJJJJIJ)’ ugﬁ,ﬁ?gc’_jl)._gi
b o D voo
n The portion of a circle between two radi1 and an arc 1s (1ii)
Chord Segment Sector
called:
T T L :é.t‘ﬁ,_f:l}u‘; Jmi PNy i (iv)
4 3 2 Angle inscribed in a semi-circle is:
.3 T o ?%J}'EL'-ZZLJBJLK_PDJQJ J/‘Jéz_jb.{l
Three — . The length of the diameter of a circle 1s how many (V)
. Two Times | One Time | .. . .
Times times the radius of the circle?
)}i4 uﬁ-/;r‘,i dﬂ?i | | :L/JJHDKJ"JJJNJVKL}"U .
i Not The tangent and radius of a circle at the point of contact (vi)
Perpendicular _ Parallel
Perpendicular are:
Lot o ¥ ‘ . L Cg_/'(’ p . s, e
2 ez il U LS S e s .
Not . Over . . L. (vii)
.. Collinear i Circles having three points in common:
Coincide Lapping
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Ojﬂ}f/‘. fﬂ/:f JJ:,/ :ugz_ﬁ,!z’ﬁuuimﬁ/iul?uﬁz_/u’f;/”..{f;ﬂm_,z
Collinear Non- Cpiteidant If two circles touch each other, their centres and point | (Vi)
Collinear of contact are:
. . n :5_.33@1,5/‘ Jé.;l}&yjé_/.JMHgI
5 n 3 The measure of the external angle of a regular hexagon (ix)
— 1S:
) S i Py o . . o L P
21 (sl “":i;_/’ljb I Sals :%dﬂwyuﬂf"///vm//;/ﬁ
t : . . ..
An An llge q An It the incentre and circumcentre of a triangle coincide, (X)
Equilateral Tria%l e Isosceles | the triangle 1s:
. . " :%L'med/um&/,;iu‘”f’ug
Q 6 4 The measure of the external angles of a regular octagon (x1)
— 1S:
5’[‘5’ o S :UJL:’EJVJ;UJ/LPZ:L}I)
. . Tangents drawn at the end points of the diameter of a (xii)
Intersecting | Perpendicular Parallel .
circle are:
J}‘ Y /l//‘: :ugaﬁugg)d/uuuﬁ»,;wﬂw
Aroelnnmin E;lial Ul;e' ;al The lengths of two @sverse tangents to a pair of | (XIi)
Sl . . circles are: R )
‘o) . " ‘
T v e Bl s
3 2 1 How many+ Hﬁents can be drawn from a point outside | (XIV)
the circh
NS
[ e }}ug' g/p
, 70
L/":J}bdj/:’ o / 7 2b? fﬁ) 7 o4 3 . / e
2 d ﬂéﬁ . “\j :Luﬁz_/bm,:uénf Lurm,ubdy,ut{ﬁ/ziummﬁ
vl Do not ) o If the distance between the centres of two circles is | (XV)
Touch each intersect H§“‘ equal to the sum of their radii, then the circles will:
other Q‘/}B
externally
Jﬂb(u,v’lu /{ J)guf’ﬁl /:I/;,UU&L(J: K}‘(’/LU’;U%L}?}aéjjb&}ﬁfL/}}ugL/f'l)ﬂ/ﬁ
I 19248y _
- Surm of Difference e b | (xvi)
Product of | their radii of thflr If the two circles touches externally, then the distance
their radii radii between their centers is equal to the:
?ujélgLQJVJ}&/'ZLUJULﬁZ./Q/u
4 3 - How many common tangents can be drawn for two | (XVil)
touching circles?
?u}é@;/JVJ}&/ZLUQDgLE;A;»
4 3 2 How many common tangents can be drawn for two | (XVill)
disjoint circles?

PAQEAQAGA
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